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 السلام عليكم
Respected Sheikh, 
 

Why does the nakirah word     ىر  ك  ذ  not have tanwiin ? I thought that 

when a مقصور noun becomes نكرة, it shows tanwiin  like هُدًى. 
 
Example: 
Al-Quran ( 114هود:  ) : 

ر ىَٰ ل لذَّاك ر ين          ه بْ   السَّي  ئ ات  ذ َٰل ك  ذ ك  إ نَّ الْ  س ن ات  يذُ   
 
 

 

 

 

 

 

 

 

 

 

DrVaniya.com 

Q & A 

 

 

Question

﴿ 

﴿ 



2 
 

 
 

 
 
 

 
Dear Br Tanveer 
 
 وعليكم السلام
 
The word ر ى   .ألف الـتأنيث because it ends in ممنوع من الصرف is ذ ك 
 
It is like   ىض  ر  م  (pl of   يض  ر  م ىل  تـ  ق ـ  ,(  (pl of   يل  ت  ق , the one killed). 
 
Hope this has helped you. 
 
 والسلام
abdur rahim 
 
 

 
 

                                        FaDiilat al-Shaykh Dr V. Abdur Rahim حفظه الله replies: 


